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Approximation 

Directions (1-50): What approximate value will come 

in place of the question mark (?) in the following 

question (Note: You are not expected to calculate the 

exact value. 

1. 39.8% of (62.05 × 4.99) + 67.12 = ? 

a) 100 

b) 270 

c) 230 

d) 190 

e) 150 

2. ? = 30.41% of 54.5% of 4198 – 92.55 

a) 500 

b) 600 

c) 700 

d) 800 

e) 900 

3. (343.78 - ?
2
)= 5351.8 ÷ 24.01 

a) 11 

b) 7 

c) 17 

d) 23 

e) 19 

4. ? = ((30.98
2.02

 – 11.98
1.98

) + 24.32)
0.49

 

a) 15 

b) 19 
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c) 24 

d) 35 

e) 29 

5. ? = 20.91% of (36.2 × (144.01 + 5.95)) 

a) 1200 

b) 1080 

c) 1440 

d) 900 

e) 720 

6. ? = (41.98 + 21.02) ÷ (18.09 + 1.97) 

a) 9 

b) 7 

c) 5 

d) 3 

e) 1 

7. ? = (√780 × 4.89) ÷ 1.98 

a) 40 

b) 70 

c) 120 

d) 150 

e) 200 

8. ? = 576.124 – 241.12 + 4.01
3.011

 

a) 400 

b) 300 

c) 200 

d) 500 

e) 600 

9. ? = 17.12 × 14.89 + 121.12 

a) 375 

b) 300 

c) 225 

d) 150 

e) 450 

10. (1619.89 + 1280.45 – 800.35) ÷ 29.67 = ? ÷ 19.88 

a) 1800 

b) 1400 

c) 1600 

d) 1500 

e) 2000 

11. 2301 ÷ 20.01 × 34.99 + 600.01 = ? 

a) 4645 

b) 4610 

c) 4665 

d) 4625 

e) 4650 

12. (180.20 - 59.74) ÷ 40.04 = 79.81 - 61.72 - ? 

a) 7 

b) 15 
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c) 18 

d) 9 

e) 10 

13. (27.84 + 31.90) ÷ 14.84 = 97.79 ÷ 13.98 - ? 

a) 3 

b) 10 

c) 5 

d) 11 

e) 2 

14. (91.87 + 118.10) ÷ 14.20 = 90.08 - 14.88% of ? 

a) 50 

b) 300 

c) 390 

d) 450 

e) 500 

15. (229.77 ÷ 1.84) ÷ 22.88 = 37.88 - 34.01 + ? 

a) 1 

b) 3 

c) 9 

d) 7 

e) 10 

16. (21.40 × 4.80) ÷ 2.94 = 117.80 ÷ 2.01 - ? 

a) 34 

b) 26 

c) 4 

d) 24 

e) 12 

17. 67.1 × 451.89 ÷ 403 =? 

a) 80 

b) 70 

c) 720 

d) 750 

e) 75 

18. 46324 ÷ 484 = ? 

a) 109 

b) 81 

c) 96 

d) 47 

e) 15 

19. 15.002 × 13.897 × 10.034 = ? 

a) 4100 

b) 4300 

c) 2500 

d) 2100 

e) 3100 

20. 3038 - 1002 ÷ 20.04 + 51 

a) 3000 

b) 4039 
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c) 3039 

d) 250 

e) 3139 

21. 59.99% of 249.98 + 79.99% of 199.99 = ? 

a) 290 

b) 310 

c) 330 

d) 350 

e) 300 

22. 117.97 + 189.95 - 229.99 = 65.99 + ? 

a) 16 

b) 22 

c) 28 

d) 32 

e) 12 

23. (885.96 + 961.99) ÷ 41.98 + 65.96 = ? 

a) 140 

b) 160 

c) 80 

d) 110 

e) 90 

24. 391.99 ÷ 13.94 × 4.95 – 130.91 = √? 

a) 3 

b) 9 

c) 27 

d) 243 

e) 81 

25. 24.95 + 26.95 × 3.9 - 18.95 = 17.95 + ? 

a) 68 

b) 88 

c) 106 

d) 96 

e) 118 

26. 20.07 x 31.93 - 9.94 = ? x 29.96 

a) 16 

b) 21 

c) 33 

d) 23 

e) 8 

27. 4.97% of 639.96 + 10.04% of 389.95 = ? 

a) 71 

b) 61 

c) 171 

d) 141 

e) -9 

28. 24.06 x 7.96 + 47.99 x 21.02 = ? 

a) 1173 

b) 1190 
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c) 1220 

d) 1194 

e) 1200 

29. (?)
2
 + 5.05

3
 = 27.99

2
 - 37.01 

a) 33 

b) 25 

c) 41 

d) 45 

e) 13 

30. 3419.95 ÷ 90.04 x 51.07 = ? + 17.05 

a) 1981 

b) 2056 

c) 2011 

d) 1816 

e) 1921 

31.  

a) 250 

b) 150 

c) 50 

d) 175 

e) 125 

32.  

a) 5 

b) 4 

c) 3 

d) 6 

e) 2 

33.  

a) 5 

b) 8 

c) 4 

d) 2 

e) 9 

34.  

a) 205  

b) 195  

c) 209  

d) 215  

e) 200  

35.  

a) 3400  

b) 3350  

c) 3200  

d) 3300  

e) 3250  

36.  

a) 1550  
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b) 1600  

c) 1490  

d) 1400  

e) 1300  

37.  

a) 11360  

b) 11304 

c) 11500  

d) 11250  

e) None of these  

38.  

a) 2830  

b) 2710  

c) 2850  

d) 2680  

e) 2780  

39.  

a) 49  

b) 37  

c) 41  

d) 45  

e) 33  

40. 

 

a) 7  

b) 15  

c) 2.5  

d) 19  

e) 10.5  

41. 24.98% of 239.89 + 29.83% of 299.98 = ? 

a) 120 

b) 80 

c) 170 

d) 180 

e) 150 

42. ?
2
 × 8.95 = 199.89 × 17.93  

a) 16 

b) 20 

c) 10 

d) 12 

e) 15 

43. 7.98 × 3.94 + 2.98 × 35.98 ÷ 5.96 = ? 

a) 40 

b) 36 

c) 50 

d) 46 

e) 56 

44. 29.98% of 249.98 ÷ 24.98 ÷ 2.98 = ? 
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a) 3 

b) 5 

c) 9 

d) 11 

e) 1 

45. 19.89% of 149.98 + ∛1727.98 – 5.95
2
 = ? 

a) 12 

b) 6 

c) 16 

d) 22 

e) 2 

46. (109.95 × 2.97) ÷ (3.14 × 4.95) = ? 

a) 12 

b) 26 

c) 36 

d) 22 

e) 48 

47. (∛728.98 + 2.93)
2
 = (6.98)

2
 + ? 

a) 105 

b) 110 

c) 95 

d) 90 

e) 85 

48. (329.98 ÷ 10.98 × 143.98 ÷ 16.16) = ? 

a) 320 

b) 240 

c) 420 

d) 270 

e) 180 

49. 189.99 – 35.96 ÷ 11.93 + 11.96 × 2.93 = ? 

a) 151 

b) 161 

c) 223 

d) 221 

e) 233 

50. √575.96 + √1023.98 – ? × 7.98 = 39.98 

a) 2 

b) 6 

c) 4 

d) 3 

e) 8 
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Solution with Explanation 

1. Answer: D)  

39.8% of (62.05 × 4.99) + 67.12 = ? 

40% of (62 × 5) + 67 ~ ? 

124 + 67 ~ ? 

? ~ 191 ~ 190 

2. Answer: B)  

? = 30.41% of 54.5% of 4198 – 92.55 

? ~ 30% of 55% of 4200 – 93 

? ~ 693 – 93 

? ~ 600 

3. Answer: A)  

(343.78 - ?
2
)= 5351.8 ÷ 24.01 

(344 - ?
2
) ~ 5352 ÷ 24 

?
2
 ~ 344 – 223 

?
2
 ~ 121 

? ~ 11 

4. Answer: E)  

? = ((30.98
2.02

 – 11.98
1.98

) + 24.32)
0.49

 

? ~ ((31
2
 – 12

2
) + 24)

0.5
 

? ~ (961 - 144 + 24)
0.5

 

? ~ 841
0.5

 ~ 29 

5. Answer: B)  

? = 20.91% of (36.2 × (144.01 + 5.95)) 

? ~ 20% of (36 × (144 + 6)) 

? ~ 20% of (36 × 150) 

? ~ 20% of 5400 

? ~ 1080 

6. Answer: D)  

? = (41.98 + 21.02) ÷ (18.09 + 1.97) 

? ~ (42 + 21) ÷ (18 + 2) 

? ~ 63 ÷ 20 

? ~ 3 

7. Answer: B)  

? = (√780 × 4.89) ÷ 1.98 

? ~ (√784 × 5) ÷ 2 

? ~ (28 × 5) ÷ 2 

? ~ 70 

8. Answer: A) 

? = 576.124 – 241.12 + 4.01
3.011

 

? ~ 576 – 241 + 4
3
 

? ~ 576 – 241 + 64 

? ~ 399 ~ 400 

9. Answer: A)  

? = 17.12 × 14.89 + 121.12 

? ~ 17 × 15 + 120 

? ~ 255 + 120 
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? ~ 375 

10. Answer: B)  

(1619.89 + 1280.45 – 800.35) ÷ 29.67 = ? ÷ 19.88 

(1620 + 1280 – 800) ÷ 30 ~ ? ÷ 20 

? ~ 70 × 20 

? ~ 1400 

11. Answer: D)  

2301 ÷ 20.01 × 34.99 + 600.01 = ? 

⇒ ? ≈ 2301 ÷ 20 × 35 + 600 

⇒ ? ≈ 115 × 35 + 600 

⇒ ? ≈ 4625 

12. Answer: B)  

(180.20 - 59.74) ÷ 40.04 = 79.81 - 61.72 - ? 

We can write the given values as: 

180.20 ≈ 180 and 59.74 ≈ 60 

40.04 ≈ 40 and 79.81 ≈ 80 and 61.72 ≈ 62 

Then, 

⇒ (180 - 60) ÷ 40 = 80 - 62 - ? 

⇒ 120 ÷ 40 = 80 - 62 - ? 

⇒ 3 = 80 - 62 - ? 

⇒ 3 = 18 - ? 

⇒ ? = 18 - 3 

⇒ ? ≈ 15 

13. Answer: A)  

(27.84 + 31.90) ÷ 14.84 = 97.79 ÷ 13.98 - ? 

We can write the given values as: 

27.84 ≈ 28 and 31.90 ≈ 32 

14.84 ≈ 15 and 97.79 ≈ 98 and 13.98 ≈ 14 

Then, 

⇒ (28 + 32) ÷ 15 = 98 ÷ 14 - ? 

⇒ 60 ÷ 15 = 98 ÷ 14 - ? 

⇒ 4 = 7 - ? 

⇒ ? = 7 - 4 

⇒ ? ≈ 3 

14. Answer: E)  

(91.87 + 118.10) ÷ 14.20 = 90.08 - 14.88 % of ? 

We can write the given values as: 

91.87 ≈ 92 and 118.10 ≈ 118 

14.20 ≈ 14 and 90.08 ≈ 90 and 14.88 ≈ 15 

Then, 

⇒ (92 + 118) ÷ 14 = 90 - 15% of ? 

⇒ (92 + 118) ÷ 14 = 90 - [(15/100) × ?] 

⇒ 210 ÷ 14 = 90 - [15?/100] 

⇒ 15 = 90 - (15?/100) 

⇒ (15?/100) = 90 - 15 

⇒ (15?/100) = 75 

⇒ 15? = 75 × 100 

⇒ ? = 7500/15 
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⇒ ? ≈ 500 

15. Answer: A)  

(229.77 ÷ 1.84) ÷ 22.88 = 37.88 - 34.01 + ? 

We can write the given values as: 

229.77 ≈ 230 and 1.84 ≈ 2 

22.88 ≈ 23 and 37.88 ≈ 38 and 34.01 ≈ 34 

⇒ (230 ÷ 2) ÷ 23 = 38 - 34 + ? 

⇒ 115 ÷ 23 = 38 - 34 + ? 

⇒ 5 = 38 - 34 + ? 

⇒ 5 = 4 + ? 

⇒ ? = 5 - 4 

⇒ ? ≈ 1 

16. Answer: D)  

(21.40 × 4.80) ÷ 2.94 = 117.80 ÷ 2.01 - ? 

We can write the given values as: 

21.40 ≈ 21 and 4.80 ≈ 5 

2.94 ≈ 3 and 117.80 ≈ 118 and 2.01 ≈ 2 

⇒ (21 × 5) ÷ 3 = 118 ÷ 2 - ? 

⇒ 105 ÷ 3 = 118 ÷ 2 - ? 

⇒ 35 = 59 - ? 

⇒ ? = 59 - 35 

⇒ ? ≈ 24 

17. Answer: E)  

∴ we can use approximate values of the given numbers. 

67.1 ≈ 67 

451.89 ≈ 450 

403 ≈ 402 

So, the given expression becomes: 

67 × 450 ÷ 402 

= 67 × 450/402 

= 450/6 = 75 

18. Answer: C)  

46324 ≈ 46000 

484 ≈ 500 

46324 ÷ 484 = ? ≈ 46000 ÷ 500 

⇒ ? ≈ 92 ≈ 96 

19. Answer: D) 

We can write the given values as: 

15.002 ≈ 15 

13.897 ≈ 14 

10.034 ≈ 10 

Now, given expression: 

15.002 × 13.897 × 10.034 

≈ 15 × 14 × 10 

≈ 2100 

20. Answer: C)  

∴ approximating 1002 ≈ 1000 and 20.04 ≈ 20, we get the 

given expression as: 

3038 - 1000 ÷ 20 + 51 
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= 3038 - 50 + 51 

= 3039 

21. Answer: B)  

59.99% of 249.98 + 79.99% of 199.99 = ? 

⇒ 60% of 250 + 80% of 200 = ? 

⇒ 150 + 160 = ? 

∴ ? = 310 

22. Answer: E)  

117.97 + 189.95 - 229.99 = 65.99 + ? 

⇒ 118 + 190 - 230 = 66 + ? 

⇒ 308 - 230 = 66 + ? 

⇒ 78 = 66 + ? 

⇒ 78 - 66 = ? 

∴ ? = 12 

23. Answer: D)  

(885.96 + 961.99) ÷ 41.98 + 65.96 = ? 

⇒ (886 + 962) ÷ 42 + 66 = ? 

⇒ 1848 ÷ 42 + 66 = ? 

⇒ 44 + 66 = ? 

∴ ? = 110 

24. Answer: E)  

391.99 ÷ 13.94 × 4.95 – 130.91 = √? 

⇒ 392 ÷ 14 × 5 – 131 = √? 

⇒ 28 × 5 – 131 = √? 

140 – 131 = √? 

⇒ 9 = √? 

∴ ? = 81 

25. Answer: D)  

24.95 + 26.95 × 3.9 - 18.95 = 17.95 + ? 

⇒ 25 + 27 × 4 - 19 = 18 + ? 

⇒ 25 + 108 - 19 = 18 + ? 

⇒ 133 - 19 = 18 + ? 

⇒ 114 = 18 + ? 

∴ ? = 96 

26. Answer: B)  

? = (20 x 32 - 10)/30 

= (640 - 10)/30 

= 630/30 = 21 

27. Answer: A)  

? ≈ (5 x 640/100) + (10 x 390/100)  

= (3200/100) + (3900/100)  

= 32 + 39 = 71 

28. Answer: E)  

? ≈ 24 x 8 + 48 x 21 

= 192 + 1008 

= 1200 

29. Answer: B)  

(?)
2
 ≈ 28

2
 - 37 - 5

3
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= 784 - 37 - 125 = 622 

So, ? ≈ 25 

30. Answer: E)  

? = 3420 ÷ 90 x 51 - 17  

= 38 x 51 - 17 

= 1938 - 17 = 1921 

31. Answer: B)  

 

32. Answer: D)  

 

33. Answer: B)  

 

34. Answer: C)  

 

35. Answer: B)  

 

36. Answer: C)  

 

37. Answer: B)  

3453.9 +  6119.8 + 1729.9 ~? 

?~3454+6120+1730 

?~ 11304 

38. Answer: E)  

 

39. Answer: D)  

 

40. Answer: B)  
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41. Answer: E)  

24.98% of 239.89 + 29.83% of 299.98 = ? 

⇒ 25% of 240 + 30% of 300 = ? 

⇒ 240 × (25/100) + 300 × (30/100) = ?  

⇒ 60 + 90 = ? 

⇒ 150 = ? 

42. Answer: B)  

?
2
 × 8.95 = 199.89 × 17.93  

⇒ ?
2
 × 9 = 200 × 18 

⇒ ?
2
 × 9 = 200 × 18 

⇒ ?2 × 9 = 3600 

⇒ ?
2
 = 3600/9 

⇒ ?
2
 = 400 

⇒ ? = 20 

43. Answer: C)  

7.98 × 3.94 + 2.98 × 35.98 ÷ 5.96 = ? 

⇒ 8 × 4 + 3 × 36 ÷ 6 = ? 

⇒ 8 × 4 + 3 × 6 = ? 

⇒ 32 + 18 = ? 

⇒ ? = 50 

44. Answer: E)  

29.98% of 249.98 ÷ 24.98 ÷ 2.98 = ? 

⇒ 30% of 250 ÷ 25 ÷ 3 = ? 

⇒ 75 ÷ 25 ÷ 3 = ? 

⇒ 3 ÷ 3 = ? 

⇒ ? = 1 

45. Answer: B)  

19.89% of 149.98 + ∛1727.98 – 5.95
2
 = ? 

⇒ 20% of 150 + ∛1728 – 6
2
 = ? 

⇒ 30 + 12 – 36 = ? 

⇒ 42 – 36 = ? 

⇒ 6 = ? 

46. Answer: D)  

(109.95 × 2.97) ÷ (3.14 × 4.95) = ? 

⇒ (110 × 3) ÷ (3 × 5) = ? 

⇒ 330 ÷ 15 = ? 

⇒ 22 = ? 

47. Answer: C)  

(∛728.98 + 2.93)
2
 = (6.98)

2
 + ? 

⇒ (∛729 + 3)
2
 = (7)

2
 + ? 

⇒ (9 + 3)
2
 = (7)

2
 + ? 

⇒ (12)
2
 = 49 + ? 

⇒ 144 = 49 + ? 

⇒ ? = 95 

48. Answer: D)  

(329.98 ÷ 10.98 × 143.98 ÷ 16.16) = ? 
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⇒ (330 ÷ 11 × 144 ÷ 16) = ? 

⇒ (30 × 9) = ? 

⇒ ? = 270 

49. Answer: C)  

189.99 – 35.96 ÷ 11.93 + 11.96 × 2.93 = ? 

⇒ 190 – 36 ÷ 12 + 12 × 3 = ? 

⇒ 190 – 3 + 12 × 3 = ? 

⇒ 190 – 3 + 36 = ? 

⇒ 226 – 3 = ? 

⇒ ? = 223 

50. Answer: A)  

√575.96 + √1023.98 – ? × 7.98 = 39.98 

⇒ √576 + √1024 – ? × 8 = 40 

⇒ 24 + 32 – ? × 8 = 40 

⇒ 56 – ? × 8 = 40 

⇒ 56 – 40 = ? × 8 

⇒ 16 = ? × 8 

⇒ ? = 2 
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